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Time : Three hours : Maximum : 75 marks
" SECTION A — (10 x 2 = 20 marks)

- Answer any TEN questions.

{2

1. Give the aims of finance functions.
B&ufen Lenflssren é;r,rré;asLb (.
2.. Define Financial Management. .

A6 Goamameto auangwm.

LD m@mrrm NGB PO CTETDTED GTemen?’

3. What is Net Income approach? - - . ‘
4. . Write down the formula for Operating leverage and financial g
leverage. _ : . ‘ S
Qués QApwLCsred wHmd . FHGwd GApbUCsTISSTa GSSb
Twgs, ot | /‘\
b. ‘ What are the components of cost.of capital? N ‘

(gl oI_bagHdn sy wg)?
i T

6. What is cost of debt?
sLan BgTan iLés Qrea, eraie eranan?

7.  What do you mean by dividend? '

Biom plF

LIRISTSMULD eTemLISET 2 angl QUITseT wirg)?
8. . Define Dividend policy.

uré{w;rrg;r_ru_lé; @a;rrsﬁcpa; uamTwm: b | (, 2 \
9. ‘Mehtion any two aa.vantages of adequate working capital.

CSurrgdLBrerr BenL_(LPSEI&&Ten .q@g?@im Qe  penaposamans
GOLAGS. ' '



10.

12

" 13.

14.

15.

Write the meaning of gross working capital.

. GLOTES B (PN (PHE ETETLISE QLT 6T(PEIS.

What do you rmean by permanent Working capital?

BB BenL_(penm (PSE eremLigen 2. ang| GLmmer u;llrrgj'?

. Write a note on property dividend.

Qersg LEISTEMUD-UDN GO eTSIs.
SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questio,né.

Expla‘in the scope of financial management.

Bluwier Goamamanouflesm admaulemar edaréEs.

A firm-sells its only product at Rs. 12 per unit. Its variable cost

is Rs. 8 per-unit. Present sales are 1,000 units. Calculate the

operating leverage in each of the following situations.

(a) When fixed cost is Rs. 1,000

(b) When fixed cost is Rs. 1,200

(¢) When fixed cost is Rs. 1,500.

2@ Hpwb QurpLsmer LG J0E @66@15@ . 12 eigib eflpuienen

Qewiy AP 0@ e wrpudb Lss Qswe SOEG
pamss @ 8. spéuremsw elpumer 1,000 swEser. Weraim

pabeairm Gpfooserés giu Quéss QpbyCsTed éqmaﬁl@nma;
L [OF

(=) Bleve oi_&a Qsaway p. 1,000 o ‘N

(=) Hlened 2L_&s Qe ap. 1,200

(@) .Lamsv 2iLbs Qsaay . 1,500

A company: issues 1000 equity shares of Rs 100 each at'a °

premium of 10%. The company has been paying 20% dividend to
share holders for the past five years and expects to maintain the

same in the future also. Compute the cost of equity capital. Will

it make any d1fference if the market prlce of equlty share is
Rs. 160?

@ Hlmio 1,000 eflsw ukiGseT e 100 aigLd 10% (penaogSled

Qmaﬂuﬁ]@aﬂmg} Hpwsdd LURGSTTTSEEEE SLbS Bbsl p@THHeTTs

Safsslu@D ukisTemub 20% Cogib afistasdd ECs iere
ugmofaégsliu@n  erer aﬁr‘rurrr'ré;a;ﬂu@eﬂg)gj sMsLUBIE  (PSD

al_a;asg,g]mma; sansf0s. sflawunden shomg AU . 160 2 erer )

Gling qmu@m LOMTHHEISEETILLD &HTETS.
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efpuenar eflane Wgman oL && fdlg erdliumiiy :
epeos Qg6 — 55%

Gprigd gnell — 20%

Cup@sma|ser— 15%

@57 SHEUDEET .

s&EmLULTSE @555 deqm epeLIQLITHL&ET — 2 LoMShIGeT
QswaTEs STb — 1 WIFD '
@g’)gju@u;br;r) gyraf aéué;aﬂ@uq &TeLd — 2 DTS BIGET -

aumg EenawrerfBlmHg 15L& srew — 1 brsib.
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24.

epennl Himiwmseen eflughiser Gemeu@worn @ief&sEiul L HeTarg.
A G&LS]I; B &I C bl
r=15% r=10% -r= 8%
- Ke=10% Ke=10%  Ke=10%
E=Rs. 10 E=Rs. 10 E=Rs. 10
aureoL T wrdflleer LweaTLGSS euQeurm Blmiosdlen LRIGETSTW
Qeaveilen 85D (<=1) 20% (1) 50% (@) 0% (rr).100% o e g

@euleumm sflgw Lbiden wHlbmers samsdl (Hs.

From the following information, prepare a statement showing
working capital by the company: ‘

' Level of production per month : 20,000 units

Selling price per unit : Rs. 20

Margin on sales : 10%

Expected ratios of cost to selling price :

Raw materials — 55%

Direct labour — 20%

Overheads — 15%

Other information :

Raw materials required in stock — 2 months

Processing period — 1 month

Finished goods in stock on an avefage — 2 months

Recoifery from customers after one month.

I_CJ]G'OT.GS_I(@LB soaudsmars  Qatam® HmngdnE Csameuliu@id
BaLpmp (pse- Agrastamear stamidseh idlsmslamear gumt
Qewis.

LS eaTnsEGML 2.HuSSH sere 20000 @S

elpLienen allene 2levE @emms@ p. 20

@ﬂﬁ)u%mcm Bgmen grsi)emi) ’10%
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16.

17.

18.

19.

The earnings per share of Wick Mayer Ltd. are Rs. 12. The rate
of capitalization is 15% and the rate of return on investment is -
9%. Compute the market price per share using Walter’s formula
if the dividend payout is 25% and 100% ‘
aflé Gowi il e LkIE genblar ai@eumil (5. 12. Sigen (psarés
eldlgb 15% Coaib (psedBs6r Barar Hmliu eNdsn 9% QUL TGy
Gsfrsdeaant LRSS LhsTsTU Qemalar 6lfgsb 25% WwHmb
100% 2_arerr Guimgy Lkidlan FHhens S enans samsd [ s.

X, limited issued 50,000. 8% debentures of Rs. 10 each at a
premium of 10%. The Costs of floatation 2%. The rate of tax
applicable to the company is.60%. Compute the cost of debt
capital. ' )

X SQLL 50,000, 8% sLen usSpmser @ 10 oSsapd 10%
poawsdd CeaafliGdng. <iser Wsmes <L &5 Cswey 2%
Boiogdne Qurmbss suqul eufleldsn 60% eafled (paelear sLen
IILsasSlenans sasd(Hs.

Calculate the debtors turnover ratio and averages age of debtors
from the following data. :

, +  Rs.
Cash sales ' 6,00,000
Total sales 12,00,000
Bills receivables (1.1.17) 45,000
Bill receivables (31.12.17) 55,000
Debtors (1.1.17) 80,000
Debtors (31.12.17) 1,20,000

Assume 360 days in a year.
Gleau(BLd EeUEET (pald sLammaflser swhsl elfsh wHmb symaf
sLenmatlger QeSS sreb ydweupBlaens sanméd (Hs.

: €.
Qyrés elHLenet 6,00,000
Qurgg eSlhrenen ' 12,00,000
1.1.17 QuuispEiu wrpmss 6 45,000
31.12.17 QuusnHEHw LrHnFs G 55,000
1.1.17 s_enmefsen 80,000
31.12.17 sL_emefiser 1,20,000

eT(H&5E 360 BTG eTer Di@orad Clelis:
Explain the dangers of inadequate working capital.
LDOTEG®D BEL-(HePD (pgedler pLigHlanan eilersds.
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20.

21.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

What are the responsibilities of the financial manager in a
modern business organization? «

Bajen Qg,rr@s’v Sjenwibe FlSufwsd Coamerflem Quimmilinger wimg?

.A company’s capital structure consists of Rs. 10,00,000 (shares of

Rs. 100 each) equity capital and Rs. 10,00,000, 10% debentures.
The sales increased by 20% from 1,00,000 units to 1,20,000

“units: the selling price is Rs. 10 per unit: variable cost amount to

Rs. 6 per unit and fixed expenses amount to Rs. 2,00,000. The
rate of income tax is assumed to be 50%. '

You are required to calculate;

(a) The percentage increase in EPS

(b) The degree of financial leverage at 1,00,000 units and
1,20,000 units.

(¢ The degree of operating leverage at 1,00,000 units and
1,20,000 units. Comment on the risk position of the firm.

@@ ﬁgmm@ﬁs&r Wpgedles Sienwindd a5. 10,00,000 (uﬂ@a;eﬁ . 100

aSsid) sfsouiiE wseeb wHmn 10% sLausdrmed . 10,00,000

Qarem(® oererg elpuener 1,00,000 eg@saiadmng 1,20,000

Sw@sans 20% o wipgereg. edpumer lma’ SIDG RETDIEE

5. 10y rniuGib SiL&s Qeweys Qzmamns. 0@ @eamsE p. 6. Cogitd

Hlene 3iL&s ewe) Agmeans 5. 2,00,000. siewrafiissiiil L aimorer

aufeldgdb 50%. '

;Sé)ﬁ]ﬁ Caemeuwirateundenens samméd(Hs.

(<) 2wibgdrer EPS ssefldlgib.

(=) HFublue ApbGame Comem 2jeme) 1,00,000 Sjo@ser wHmid

1,20,000 =y,@b.

(@) Qués QpwuCsnd Csmewm =iere; 1,00,000 i@ wHHID
1,20,000 wia@ser.

Blmigdler @ rum’ () Hleneoudlene &(m,&E1anT&HseaLd.
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22.

23.

A firm has the following capital structure’and after tax costs for
the different sources of funds used.

Amount Proportion ' After tax

' Sources of funds (Rs.) (%) (%)
| Debt 15,00,000 25 5
Preference shares 12,00,000 20 10
Equity shares 18,00,000 30 12
Retained earnings 15,00,000 . 25 11
Total " 60,00,000 |

You are required to compute the weightéd average cost. of
capital.

@it fowsdar ppaadar sieoliy Qemaumb Curgb el oILsas8HEL!
Y@ 2 arer LdGeum HiF SpsTIRSET LWETLHSSLILIL LG GUHLOT).

Qarens  dlsd eaufdEl GpG

HE psTrmsEr (e5.) %) . . (%)
SLan ] 15,00,000 25 5
-@G&r@]rﬂmmu uré;'@a;eir 12,00,000 , 20 10
Fh&D UBIGaeT - 18,00,000 30 i 12
g)ésa;mmésauul'TL_ au@eumi  15,00,000 25 11 |
Qurgsid 60,00,000

erenL sqnal pealan ol sssHman sansdl (.
Details regarding three companies are given below.
ALtd B Ltd C Ltd
r=15% " r=10% = 8%
Ke=10% Ke=10% Ke=10%
E= Rs:. 10 E=Rs.10 E=Rs. 10

By using Walter’s model, you are required to .

Calculate the value of an equity share of each of these companies
when dividend pay out is (a) 20% (b) 50% (c) 0% (d) 100%.

5 62444/CPC5A/CPZ5D/
CPG5D/MATS5C



